SRS 1 2H1 HEBAE (o A0 : HAAN+HSEAN)

K5HT4 AR | B[S (A) | I | A (B) | B [ BF(A+B) | IR
JiSIEin 2, 506 6 2,816 1 2, 846 -1 5, 662 0
JHPTET—TH 1,046 2 945 2 843 -3 1, 788 -1
JHFHT — T H 597 4 563 -1 567 -3 1, 130 —4
JHIPTHT =T H 662 -3 713 -5 666 -2 1,379 -7
eI 495 -2 508 -1 536 -3 1,044 —4
JRIHTHT 7T H 335 -1 359 -2 334 0 693 -2
JHPTHT 7S T H 297 -1 359 0 387 0 746 0
oY 206 1 198 1 214 -1 412 0

BA 379 1 445 1 460 -1 905 0

T H 1,955 -2 2,022 1 2, 069 -7 4,091 -6
AT 349 2 340 2 339 2 679 4

R H 942 8 996 2 979 2 1,975 4
T — T H 280 4 355 -2 394 0 749 -2
T T H 351 -3 436 0 449 1 885 1
HHT =T H 503 -1 687 2 646 -3 1, 333 -1
FHTIU T H 299 0 400 -1 398 3 798 2
T H 233 1 258 4 251 1 509 5

W] = 304 -2 363 -2 341 -1 704 -3

— VK 439 5 451 3 458 4 909 7

— YV KHT—TH 0 0 0 0 0 0 0 0
=Y RFNT =T H 31 -2 43 -1 492 -1 85 -2
L 110 -1 128 -1 121 -1 249 9

— Y ARHH 5 0 5 0 5 0 10 0
KH» 4B 694 0 870 0 869 ) 1, 739 -2
k4> 4, 592 6 4,905 6 5,074 -6 9,979 0

IS 4,851 10 4,622 6 4,683 -2 9, 305 4
W 1,418 3 1,511 3 1, 563 1 3,074 4
=+ 6 0 10 0 7 0 17 0
H5+tH—TH 932 3 802 0 951 0 1,753 0
E+tH_TH 1, 138 —4 1,102 —4 1,175 —4 2,277 -8
E5+HR=TH 873 -3 801 0 853 -8 1, 654 -8
LRI T H 731 0 719 -2 730 -2 1, 449 —4
E5+RAETH 732 2 774 3 686 4 1, 460 7
RN TH 0 0 0 0 0 0 0 0
8 1,986 -9 1,970 —/ 1, 858 -1 3, 828 -5

oy —TH 316 3 313 3 315 1 628 4
o BE—TH 241 -1 254 -1 246 -3 500 —4
oy b ="TH 430 -1 433 0 451 -2 884 )
o DU B 751 -8 701 -6 795 -8 1, 496 -14
o T H 462 -1 494 -1 518 -1 1,012 )
I —T1H 258 0 303 1 339 1 642 2
FElT T H 588 2 583 2 640 —4 1,223 )
FAHT =T H 186 0 183 0 228 -1 411 -1
s 33, 509 2 34, 740 9 35, 326 -51 70, 066 -49




